P EEN TR B2 En B0 X4t R408010104G6Rzh

2018 4% G6PD & &Am Bass VU I e b o i o A SRl

FEAK : RH2018-04 TepREr i HE - 2018 210 H 15 H s E e Hi - 2018 H 10 5 22 H
FFHEL 18 fF By E(EEER) - 18 (100%)

1. Ay G6PD ez (Hb) i S tpladfh L —Hk

i s B == 13 OV A i 1

2.8 G6PD s it oy il 5. AR ERE T EP MY T GOPD SEIE(S | 61 T iR C.V. | Sl
3. AN tn 2 (Hb) T kst 55> (68 6. A £ B 7 score, D% K SDI A3

ZErGoPD K [N thZ (Hb)E Efa il e TSR —ER
BB | RESEE | I R(Zggpgm Sample 1 Sample 2 Sample 3 Hb1 | Hb2 | Hb3
{tﬁ% {‘QEE*’ (3{) Code |(UeHb)| D% |z score| SDI |(Ughb)| D% |z score| SDI |(Ughb)| D% |z score| SDI | (g/dL) (g/dL) (g/dL)
RHOI gg; 1 3 |135/38% 05 0.8 87 12% 02 04|49 |65% |09 14| 21 | 21 | 22
RH02 RH02 2 1 13.3/12.3% | 0.3 |0.6|8.8 | 2.3% | 0.3 |0.6|4.7 | 22% [ 0.3 [0.5| 1.9 | 19 | 2.0
RHO04 RHO04 3 4 12.4-4.6%|-0.7 |-0.7| 8.3 |-3.5% |-0.5 |-0.4| 4.5 |-2.2% [-0.3 |-0.5| 2.1 | 20 | 22
RH06 RHO06 3 3 13.8/6.2%| 0.9 [1.3|8.2 |-4.7% |-0.7 -0.6| 4.8 | 43% | 0.6 (09| 22 | 23 | 23
RHO7 15(1)4&79 4 4 112.0-7.7% 11 -13/92 | 7.0% | 1.0 14|46 |00% |00 00 19 19 | 20
RHO8 RHO8 7 3 13.4/31%| 0.4 |0.7|8.8 | 2.3% | 0.3 |0.6|4.5 |-2.2% [-0.3|-0.5| 21 | 20 | 2.3
RH09 RH09 4 4 13.4/3.1% | 0.4 |0.7| 8.4 |-2.3% |-0.3|-0.2| 4.7 | 2.2% [ 0.3 [0.5| 1.9 | 19 | 19
RH10 RH10 7 4 13.2/1.5%| 0.2 |0.4|8.6 | 0.0% | 0.0 |0.2|4.6 | 0.0% | 0.0 (00| 1.8 | 19 | 20
RH12 RHI2 7 4 11.9|-8.5%-1.2 |-1.4| 8.4 | -2.3% |-0.3 |-0.2| 4.1 |-10.9%|-1.6 |-2.3| 19 | 1.9 | 21
RH13 RH13 7 4 12.9/-0.8%-0.1|0.0| 8.5 |-1.2% [-0.2 0.0 4.6 | 0.0% [ 0.0 [0.0| 2.2 | 22 | 22
RH14 RH14 7 3 12.8-1.5%|-0.2 |-0.1/ 9.0 | 4.7% | 0.7 |1.0| 4.8 | 4.3% [ 0.6 [0.9| 22 | 21 | 23
RH19 RH19 2 4 12.2/-6.2%|-0.9 |-1.0/ 8.8 | 2.3% | 0.3 |0.6|4.3 |-6.5% [-0.9|-1.4| 1.9 | 20 | 2.0
A0203 [fglzloi 4 1 12.0-7.7%|-1.1 |-1.3| 6.5 |-24.4%|-3.5 |-4.1| 4.1 |-10.9%|-1.6 |-2.3| 21 | 22 | 23
G026 G026 4 4 12.9/-0.8%-0.10.0| 7.9 |-8.1% |-1.2 |-1.2| 4.7 | 22% [ 0.3 [0.5| 2.2 | 22 | 22
CLO001 RH16 1 4 12.1/-6.9%|-1.0 |-1.1| 7.6 |-11.6%|-1.7 |-1.8/ 4.5 | -2.2% [-0.3 |-0.5| 24 | 24 | 24
RHO3
RHI1
RH17
CL002 G031 5 6 13.1/10.8% | 0.1 |0.3|7.9 |-8.1% [-1.2|-1.2|/ 49 | 65% [09 (14| 21 | 22 | 22
B005
CLO016
A0511
CLO14 CLO014 7 3 13.8/6.2% | 0.9 1.3 8.7 | 1.2% | 0.2 |0.4| 4.6 | 0.0% [ 0.0 [0.0| 20 | 19 | 2.1
CLOI5B | CLO15B 3 1 13.2/15% | 0.2 |0.4|8.7 | 1.2% | 0.2 |0.4| 4.5 |-2.2% [-0.3|-0.5| 2.1 | 2.1 | 22
Total participating laboratories = 18
Xa
(Median) - 4 - 13.0 8.6 46 21 | 21 | 22
Uxa - - - 0.187 0.127 0.057 - - -
Op - - - 0.910 0.602 0.322 - - -
cp’ - - - - - - - - -
Range - 1-7 - 11.9-13.8 6.5-9.2 4.1-4.9 1.8-2.4(1.9-2.4/1.9-2.4
n - - - 18 18 18 18 18 18
Mean - - - 12.9 8.5 46 21 | 21 | 22
S.D. - - - 0.72 0.49 0.22 0.16 | 0.17 | 0.15
C.V. - - - 5.6% 5.8% 4.8% 7.6% | 8.1% | 6.8%
Note:
1. D% BigER{E (X ) Bt d (Xa ) 2 2Rt e AL E AT S EE#RR - D% = [ (X —Xa )/ Xa ] x 100%
2. Uxa BRREMEATEMIRFEESE - uxa = 1.1xSD/n'?
3. FPEEMERE (0p) By 7% x Xa » {H35 Xa < 2.9 U/igHb B » £ o = 0.2 U/gHb
4. ERERPERLE (0p') = (0p% + uxa® )12 Uxa 2 0.30p I op' (HURRFEIE -
5. zscore BgSafEARE (D = X - Xa ) BaPE e (op ) ZEL{E - (zscore=D/op ) ©
6. SDI il {H BT E A PS54 > [fH - [ SDI = (X —Mean )/ SD ]~ % SD {E 5 0 B% » SDI R PaHE -
7. E%E{H (Assigned value; Xa ) Fya% ThE R EETE RIThR S EFAELS R 2 i {ir# (Median ) »
8. FHIME (Mean ) BAFEAEF ( SD ) ERAITE(E ( Robust ) 451 7774515 (fk#8 1SO 13528 55| » i Algorithm A JHELZ ) -
9. H—{EfaiEHy G6PD faba{Ess R HE A : Acceptable : |z | =< 2; Caution : 2 < |z | = 3; Unsatisfactory : |z | >3
10. A e#HRZE ( Maximum Allowable Deviation; MAD ) % 3 x (0p / Xa ) x 100% > ‘& uxa 2 0.3 0p I » MAD % 3 x (0p'/ Xa ) x 100%
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G6PD
Reagent Kit Reagent Lab
Code
Inrovation 4 (CLO14,RHOT, RHOG,
RHO08, RH14
Instruchemie 6 |cLooz
CLO0O01, G026, RHO4,
Lanner 4 |RHO7, RH09, RH10,
RH12, RH13, RH19
Trinity |1 |A0203, CLO15B, RHO2
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Long Term Observation of Blood G6PD Quantitative Test EQA Survey Results

Survey No : RH2018-04 (in green ®)|
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Fig RH-2.1
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n: 36 Hedian of CV: 7,1% Hean of CV: 7.2 SD of CV: 2,4% Range of CV: 3.6K-15.8% (date: RH2016-81 to RH2818-84)
Fig RH-2.2
* Mean and SD are calculated by Robust method according to ISO 13528 since 2014
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